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A=(A A A)=Ag, +Ag, +Ag,

B=B= (B,, B, B)= AAeX+Ayey+AZeZ/6)
RiE (RHh>—F8) ~ —

A-B=ABcoséd (0:ALBD 74 4)E)

e,-e,=11.cos0=1¢e, e, =e,-e,=1

T
e, -e, ﬂ&-cos(;jzo,ey-ex =e,-e,=¢€,-e,=¢e,-e,=¢e,-e =1

(A|B)=AB,+AB,+AB,
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(A|B)=AB +AB,+AB,
(A > =AB +AB +AB,=BA +BA +BA
< B) =(BIA)
)=[AL +A[+[A[
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RO HBEE(X=a—Xx=b) TEZND2ODEBDRDESZEBDODARLEERT 5.

B (0, 600D [y (004090

FHEHRAF (EM) - BF X% (complex conjugate)

B DR TE (IERRTE)

wa*(x)gu(x)dx=1 Lb¢*(><)¢(><)d><=l A

" e b,
E#MOEXRE L v (X)(X)dx =0 ﬁ\} .
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& (X), 9, (X), -+, B (X) = {¢k(x); k=12, n}

[ 400, (et = 5,
1(k =k

Kronecker® Sit = : O, =
7 O {o (kK
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V() =CA(J+ () += Y GAK
RERBOROT

[ 80w (9= [ (e ()= ¢, [ & () (Y dx=¢,

.

- ¢ = [ (Y (X)dlx
LAL. ChTHEBEN ? RMcEBARICRAT L, LEOBMEFLLET

y() - Z{ [4 (x')w(x')dx}qﬁk(x) -] S0 0 e

] S (X (X) = S(x—X)

k=1 sooik (SofEtE)




TILAEBOTEZLEE

ET7IILEARIZ KD FRIA 1,
SO0 < lim 5 - 5= (-e<x<¢) 2¢
(X)=g|_r>r(} g(X)’ g(X)= 0 (‘X‘>8)
|
ANE—HARFDREERELE 6 X)DILWLEKRD MY —g/ \g
dé(x
0(X) = ( )<— X E{l (x=0)
0 (x<0)

TILAEE S (x) &Ik, BEx=0I-E@E 1N EDR LB THh5,
f o(X)dx =1, J-_g S(X)dx =1 (¢ fEEIEX)

ji F(x)o(x)ax=1(0), _[_Z f (x)5(x—a)dx= f(a)

TIVAE DA RALRIA

5(x) = — [TeMdk  5(x)=lim Sin(ax)
27 I a»o X
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SELERRBEAHRRDEH
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(2) RREIx=0—x=a DO EREFHFICHALAOHONT-FIFD

RENRE# (B AFKEE)
{¢(x) \fsm(nzxj n=1,2,--}
REERMHE

ja\/gsin(@j\/gsin(n ﬁxjdx:@m.
°\a a JVa a

.




sum = 3" 2sin| "2 Jein[ "7 | 0D S S

a

nmax= 100000000, a=1.0Diz&

x= 1.0000000000 x’= 0.9000000000 — sum= 3.65235
x= 1.0000000000 x’= 0.9900000000 — sum= -33.57476
= 1.0000000000 x= 0.9990000000 — sum= -360.48495
= 1.0000000000 x'= 0.9999000000 — sum= 416.26826
= 1.0000000000 x'= 0.9999900000 — sum= -31868.66346
= 1.0000000000 x'= 0.9999990000 — sum= -50201.51458
x= 1.0000000000 x’= 0.9999999000 — sum= -50406.16195
x= 1.0000000000 x’= 0.9999999900 — sum= 50407.33862

= 1.0000000000 x’= 0.9999999990 — sum=  98365120.67/81
x= 1.0000000000 x'= 0.9999999999 — sum= = 99983882.32352
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